Qu. | Requirement

11 | 90 im
1 712 im
12 | 600 im
2 | 5 im
11 13 | 4 im
14 | 4,921 im
16 | 50,000 im
q | an 1m 16 | 4.6 im
4 | 838 1im i7 | & im
7
5 9 im
] 200 im
7 | 6562 1m
8 46 1im
18 | 0.001 1im
q 81.08 1im
10 | 308 im




» Ou. | Requirement
m Requirement Mark d

28 | 2 im
19 | 750 1im 2
20 | Award TWO marks for the commact answer Up to
of 18,0565 2m
29 | Award TWO marks for the cormect answaer Up to
g 24 1m of 465,518 2m
2o | Award TWO marks for the correct answer Upto B 196 1m
of 15 21y 3| 1 1m
8
32 | 77 im
23 | 14 im —= ™ m
24 | 7 im
10 34 | 182 1m
35 17 1m
23S | 21 im 2L
OR
59
21
26 | 0.262 im
27 | 117 1im 36 | Award TWO marks for the comect answer ‘
of 81




